(IEEF-S ETREY BB E PRI ¥ 4 et s
R AR SICED
13 p o S
1 EPpoeh1 (Fkmie?

11 2B (-] 3+ 14 66.67
£ 8 57.14
FCRRR P 1 7.14
g 1 7.14
2y 4] Jﬁ“ﬁ 1 7.14
kS 1 7.14
pd ey 2 14.29
Hw 0 0

1.2 %4 1 ph— |3t 6 28.57
i 4 1 16.67
Fo RN 0 0
i 1 16.67
¥ I 0
S 0
pdoairg 1 16.67
Hi 3 50

1.3 g /B TIrE 0 0

1.4 P awwﬁ‘iﬂ 1 4.76

2 BREa FREGILP D

ERY SN 0 0

Wi 1 5

FLE s 1R B 0 0

E 3’5"3‘1%]%’ 0 0

TRTR S s FBE g 0 0

¥R ik 1 5

g3 B 5 25

A BRE 1 5

& fpA A 0

EEEY Fy 0

T A g 3 15

PO £ E AR 1 5




KT L R 6 30
B A 2 AL € PRICHF 2 10
AP 2 Lk i 25 4 0
SN T P RS 0
3 BEEREFEIZ AFFEEFESST
3.1 -3 15 i
31182 p %k (F ik
gliafe 6 40
92 7 46.67
IRt 2 13.33
H4m1ir 0
H5iraiEm 0
312041 (Fa & R 7]
1 TER BRER ] 1 6.67
1 iEHRAE 0 0
1ERPRALE p oA 0 0
FE 2 AmTIRB 7 46.67
3 A g 1 6.67
S ip A BB A 1 6.67
BB ARMER Lomp s 0 0
FY &g’ 1 6.67
TRFEG P TSk 2 13.33
FIEF1 % 0 ¢
H 2 13.33
3.2 z—)# 5 25
4 BHRALIFETHE I YT L@ 9
TR % 22000 20T 1 >
AT % 22001 = 3 25000 ~ 1 5
AT4 % 25001 = 3 28000 ~ 1 5
Hgi74 % 28001 ~ 3 31000 = 0 0
T4 % 31001 =~ % 34000 ~ 2 10
AT % 34001 = % 37000 ~ 5 25
AT % 37001 = % 40000 = 1 >
AT % 40001 & 3 43000 ~ 2 10
AT % 43001 = 3 46000 ~ 0 0
AT % 46001 = 3 49000 ~ 1
74 % 49001 = 1 52000 & 1 >




HF74 % 52001 =~ 1 55000 ~ 2 10
74 % 55001 ~ 1 60000 ~ 2 10
74 % 60001 =~ % 65000 ~ 0 0
374 % 65001 = 3 70000 ~ 0 0
AT % 70001 = 3 75000 ~ 0 0
A4 % 75001 = 3 80000 ~ 0 0
K AT4 % 80001 =~ % 85000 ~ 0 0
K A74 % 85001 =~ % 90000 ~ 0 0
AT % 90001 = 3 95000 ~ 0 0
A4 % 95001 = 3 100000 ~ 0 0
A4 % 100001 =~ 3 110000 ~ 0 0
A4 % 110001 = 3 120000 ~ 0 0
K AT4 % 120001 =% 130000 ~ 0 0
K74 % 130001 =3 140000 = 0 0
K74 % 140001 = 3 150000 = 0 0
K74 % 150001 =% 170000 = 0 0
A4 % 170001 =3 190000 = 0 0
AT % 190001 =% 210000 ~ 0 0
HEr4 % 210001 =~ 2 1 >
HR G AL & (Firhe B P 7
5.1 HBP -3 20 100
s 0 0
3L B 5 25
£ 5 25
¥4 ] 6 30
274 B4 0
AT 0
o R R 1
4@ 2 10
3 45 0 0
)1 0 0
2 At 0 E
LAER 0 0
57 0 0
- 0 0
b 0 0
B B 0 2




R 0 0
iR 1 5
¥R 0 0
1Bk 0 0
&R 0 0
FiP Rk 0 0

5.2 B -3 0 0
T (R~ IBFP s A F) 0 0
T (Rk B~ A HEFYPRTY 0 0
< 0 0
ER 0 0
oM 0 0
A E 0 0
vOE 0 0
ERE 0 0

B0 ApEDRFL P2

6.1 &g+ 1 100

6.2 PRV & EFRE 0 0

6.3 B LE—]3H 0 0
RPN A2 AT 0 0
hRTE 0 0
i 0 0
a4 R 0 0
Hw 0 0

6.4 FHFpaiEe -3t 0 0
6.4 1FREBAEFH L Fhdb A7 i R F] 7

AF LT 0 0
Fok2 AR 0 0
P MArRFI R R 0 0
11T BRG £ 0 0
BT g 7 0 0
P REFA Y 0 0
1IN FAB/RE 0 0
Hw 0 0

6.4.2p w2 T 5 APERPIIE?

1R PN

H1BEB2rz 2B p




H2BEEIT IR 0 0
HIBEIT 4R 0 0
H4BEP 3 6B R 0 0
X6 0 0
6.5 Hi# 1A EH1IE A 0 0
T BPparEg B End o1 5 Rep e 5 ?
P g 6 30
* & 6 30
% i 5 25
* 3L 1 5
E S S = 2 10
8 Kpwiirpy AFFZREFLEER?
& 3 15
*EE 17 85
9 KBHPHLIIFOFEBBEIAREP?
ZEF R E 2 10
AR 10 50
T 35
ERCE S
PO SN
10 &P wena ivp % v%@,ikga GNP B B e B E IR
AR ARRPARRE SR
2 F B s 4 20
=& 5 25
¥ 7 35
i E 0 0
P S = 4 20
11 & ?ﬂFF’*u‘f‘?’w PEYesk W mba ity or§es ?
(VA& > 32 % 33%)

B ¥ Aom o e g 16 35.56
2R H 2 AR 15 33.33
RPN R I3As 7 15.56
FAERRY 4 8.89
AL 8] 5 B 0 0
FTEY 1 2.22
S R s B 1 2.22
&I PRI~ PRIFE Y 0 0




FEEy S KEem 2.22
H 0 0
12 BEFZ 7 1ivbp N4 BF R KFEBSE 127
NE XS ?
12.1 3 -3 5 62.5
LD 5 100
CIR N A E R0 0 0
R 1 12.5
b e 0 0
B 7 1 100
Fokd F R 0 0
& e 0 0
KEFE 0 0
FEHER 0 0
T PR 2 25
Hi 12 60
12.2 2% -3+ 5 62.5
13 BEFAFER TR0 HEFTFE RS
1IERA R ORI BER P
EX R 5 62.5
7 ELFTE4 0 0
P 3 37.5
Y §les 0 0
% 22 §le 0 0
14 BAEFER G0 FIRE F @A B4 Dk £ b
B A TR 4 a1 T2 (FAFE 0 T 5 358)
TR S 17 27.87
FHEY N 9 14.75
A MRS g 4 11 18.03
By & iva 4 4 6.56
RO REfE A0 4 9 14.75
AR 1 1.64
1R FER R R PRy 4 6 9.84
T A 0 0
= 4 6.56
His 0 0




